1 Thediagram below shows the construction of the bisector of A5

Which statement is nottrue?
1) 1

M EER = 3 AR

2) 1

s DER = 3 s AR

3) moEEF =S AR
4) A DEF = s EEF

2 Astudentused acompass and a straightedge to construct C in £ ABC as shown below.

A
Which statement must always be true for this construction?

1) £CFAd= - CEB
2) LACE = /BCE
3) AR =BE
L) EC = AC

3 Based onthe construction below, which statement must be true?

N msA80 = %MCBD

2) mAABD = msCBD

3) mAABD = msABC

4) msS OB = %mﬁﬂﬁ‘ﬂ

B

4 Astraightedge and compass were used to create the construction below. Arc £Fwas
drawn from point B, and arcs with equal radii were drawn from £and F.

Which statement is false?
) msABD =t/ DB
2) % (s ABC) = msABD
3) 2msDBC) = s ABC
4) 2msABC) = s CBD




5 Asshowninthe diagram below of /. A5, a compass is used to find points JDand £,

equidistant from point A. Next, the compass is used to find point £, equidistant from points 0
e —_—

and £ Finally, a straightedge is used to draw A#'. Then, point G, the intersection of 47 and

side BC of A AB is labeled.
B

Which statement must be true? D G
N ﬁbisectssideﬁ_fﬁ

2) A bisects LEAC

3) urLEC |

4) MABG~ AACG A E?

6 Which diagram shows the construction of a 45° angle?

1) 3)

A

<>

2) 4)

7 Whichillustration shows the correct construction of an angle bisector?
1) 3)

L

2) 4)

M




1 Onestepinaconstruction uses the endpoints of ABto create arcs with the same radii. The

arcsintersect above and below the segment. What is the relationship of 4% and the line
connecting the points of intersection of these arcs?

1) collinear

2) congruent

3) parallel

4) perpendicular

2 Linesegment ABisshowninthe diagram below.

Which two sets of construction marks, labeled I, I, lll, and IV,
are part of the construction of the perpendicular bisector of

line segment A5? v
1) landll A

2) landlll
3) llandlll

4) llandIV ><'”

3 Inthe construction shown below, C'Tris drawn. >I<

In AABC, CDisthe .
1) perpendicular bisector of side 45
2) mediantoside A7

3) altitude to side A%
4) bisector of ZACE >|<

4 The diagram below shows the construction of the perpendicular bisector of AB.

Which statement is nottrue?
1) Ac=cB

2) C’B=1AB .

o]

2 A
3) AC=24F
4) AC+ OB = AR




5 Based onthe construction below, which conclusion is notalways true?

) 4Bl cD
2) AB=(CD
3) AF=ZE
4) CE=DF

6 Which diagram shows the construction of the perpendicular bisector of AR?

1) 3) A
A B Ae B
v
2) A 4) A
NV
A /B A /\ B
Y

Y

—_—

1 The diagram below illustrates the construction of 75 parallel to 2 through point P,

Which statement justifies this construction? * = )
) msl=ms2 2/

W &
2) msl=ms3 R O
3) PR=RD

4) PS5 = RO

Y

&

L



2 Which geometric principle is used to justify the construction below?

1) Aline perpendicularto one of two parallel
linesis perpendicular to the other.

2) Twolinesare perpendiculariftheyintersect
to form congruent adjacent angles.
3) Whentwolinesareintersected bya

A

transversal and alternate interior angles are
congruent, the lines are parallel.

4) Whentwolinesareintersected bya
transversal and the corresponding angles
are congruent, the lines are parallel.

—F

Which theorem justifies this method of construction?
1) Iftwolinesinaplane are perpendiculartoa
transversal at different points, thenthe lines

—F

3 The diagram below shows the construction of A% through point Pparallelto &2,

Y

are parallel.
2) Iftwolinesinaplane are cut by atransversal
to form congruent corresponding angles,

>1\

v

m\!

OJ\

then the lines are parallel.

3) Iftwolinesinaplane are cut byatransversal
to form congruent alternate interior angles,
thenthe lines are parallel.

4) Iftwolinesinaplane are cut by atransversal
to form congruent alternate exterior angles,
thenthe lines are parallel.

a

4 The diagram below shows the construction of line m, parallel to line £, through point ~.

Which theorem was used to justify this construction?

1) Iftwolinesare cut by atransversalandthe
alternate interior angles are congruent, the
lines are parallel. <

DV

2) Iftwolinesare cut by atransversal andthe
interior angles on the same side are
supplementary, the lines are parallel.

3) Iftwolinesare perpendiculartothe same

line, they are parallel.

4) Iftwo lines are cut by atransversal and the
corresponding angles are congruent, they
are parallel.

——

L J



5 Which construction of parallel lines is justified by the theorem "If two lines are cut by a
transversal to form congruent alternate interior angles, then the lines are parallel"?

) ] %\ 3) \

2) 4)

6 The diagram below shows the construction of a line through point Pperpendicularto line .

Which statement is demonstrated by this construction? L P

1) Ifalineisparalleltoalinethatis
perpendicular to a third line, thenthelineis
also perpendicular to the third line.

~n

2) The set of points equidistant from the
endpoints of a line segment is the R
perpendicular bisector of the segment.

3) Twolinesare perpendiculariftheyare
equidistant from a given point.

4) Two lines are perpendicular if theyintersect
to form averticallline.

7 Inthe accompanying diagram of a construction, what does P represent?

1) analtitude drawnto 45

2) amediandrawnto A5
3) thebisectorof S AFE

4) the perpendicular bisector of AR




8 Whichdiagramillustrates a correct construction of an altitude of /4 AFC?
C
C

C 3)
C 4)
5 A

1 Which diagram shows the construction of an equilateral triangle?
‘I) - L 3)

<

1

A
2)

A

2) 4)

oy

-

II
.___jll_ — _III____

X

2 Which diagram represents a correct construction of equilateral £+ 45, given side AB?

) C 3) C




2) C 4) C

A B

3 Thediagram below shows the construction of an equilateral triangle.

Which statement justifies this construction?
) LA+ 2ZB+ 0= 180
2) msd=msE=msl

3) AB=AC=EBC
4) AB+BC = AC



